EZ-Go Utility / Cargo Box
Installation Instructions

KIT COMPONENTS
Itéem  Qty Description
A 1 Cargo Box
B 2 Rear Cargo Box Supports
C 1 Left Seat Back/Cargo Box Support D
D 1 Right Seat Back/Cargo Box Support
E 1 Hardware Kit
CAUTION:

Always disconnect the negative (-) cable from the battery before
beginning. If your cart is equipped with a Tow/Run switch, always switch
to the TOW position before working on your cart.

INSTALLATION INSTRUCTIONS:

1. Ifyour cart is equipped with a top, you will need to remove the rear top
supports first. It is best if you support the top temporarily using a broom
stick, length of wood, or something long enough for this job. Save all of
this hardware as it will be re-used.

NOTE: Use care when working under the top as your temporary support
could slip and cause the top to fall.



Locate the two bolts on each side of the
bag rack/seat cushion assembly and
remove all 4 bolts. See figure 1.

Remove the 4 bolts securing the seat
cushion to the bag rack assembly. The
seat cushion will be re-used, but the bag
rack will not. See figure 2. Youre now
ready to start assembling.

NOTE: Figure 2 shows the rear access panel
removed, but it is not necessary to remove
this for the Cargo Box kit installation.

Place the left seat back/cargo box support
in place on the back of your original seat
cushion. Make sure it is positioned as
shown in figure 3. Secure it with two 1/4
X 1"long bolts and two 1/4 “ flat washers.
DO NOT tighten at this time.

Now place the right seat back/cargo box
support in place on the seat cushion and
secure it as well. DO NOT tighten at this
time.

Place the seat cushion and seat back/
cargo box supports into place on the cart,
as shown in figure 4. Secure it in place
using the four 3/8 X 1” bolts and four 3/8"
flat washers included in this kit.

Locate the two rear cargo box supports
and position them in the rear bag well area
as shown in figure 5 & 6. Use the two 5/16
X 1 1/2" bolts, four 5/16" flat washers and
two 5/16” lock nuts to secure them in
place. DO NOT tighten at this time.

Place the cargo box onto the back of the
cart, with the tail gate to the rear.

N
Figure 4

Figure 5

10.

11

.

12.

Place the two 3/8 X 1" bolts with two 3/8"
flat washers down through the two holes
in the front of the cargo box. See figure 7.
Adjust the box so that the two bolts drop
through the holes in the seat back/cargo
box supports. Add a 3/8" flat washer and
lock nut to each, securing the front of the
cargo box. DO NOT tighten at this time.

From the rear of the cargo box, secure the
box support bracket to the two rear cargo
box supports, using a 5/16 X 1" bolt, nut
and two washers on each side. See figure
8.

You will want to stand back and look to
make sure the cargo box is square on
your cart. Once it is positioned where you
want it, tighten all mounting bolts for the
rear supports and cargo box.

The original top supports can now be
installed. Use the four 5/16 X 2" bolts,
eight 5/16” flat washers and four 5/16"
lock nuts to secure the top supports to the
holes provided in the cargo box supports,
directly behind the seat back cushion.
See figure 9.

DO NOT TRANSPORT PASSENGERS
IN CARGO BOX!




